RILBNERAT b LABNHEAZ1—

HAZWE>B AT (EEELTBFEH)

BT CHER8%) #Eff CHET10%)

30A 1,000.00M 101851
40A 1,200,009 1.222.22F

HEARH®

A 50A 1.400.00M 1.425.92

60A 1,600,009 1,629.62

. 300kWhE T 1kWh[Z D= 21.00M 21.38M

Rl EAT 300kWh%EC % B 1kWhIZDE 95.00 2546

DAZWFIYI TS (EEBLTCHY)

HEARHE R EIKVAIZDE 266.70M 271.63M
300kWhE T D 1kWh[Z D= 21.00M 21.38M

== E=RIIY

BAEHE 300kWh#EC % B 1kWhIZ D= 25.00M 2546

HAZWERTSY (BEEEHELS)

HAERBE BHEHIKWIZDE 1,150.00M 1,171.29MH
55 TKWhl= D= 15.00 15.27M

== E\lgﬁ

EHEH ZO= TkWhIZ D= 1400 14.25M




RRENEAT>bOABNHEAZ1—

BisioboATI0 (EEEXTBHEL)

BT CHER8%) #Eff CHET10%)

30A 1,000.00M 1,01851H
40A 1,200.00M 1,222.22M
HAH S
A 50A 1,400.00M 1,425.92M
60A 1,600.00M 1,629.62M
EHEHS 300kWhZETOD 1kWh[ZDZE 22.00MH 22.40M
Rl EAT 300kWh%EC % B 1kWhIZDE 95.00 2546
b2 d NI b A
HEARXHE 15249 (10kVAET) 1,500.00M4 1,527.77H
- =85 FRIEFNLOFRIIFET 28.00H 28.51H
EHENE - ——
®[E FRUEANASZAFRIBET 16.00M 16.29M
BEFR VTSV (EEELTCHY)
HAERBE YR EIKVAIZDE 266.70M 271.63H
300kWhZET®D1kWh[ZDE 22.00MH 22.40M
BHEHE — —
300kWhZx Z 2 B 1kWhIZD&E 25.00M 25.46M
#FRURTSVREZEHHEY)
HAHE THEHIKWIZDE 1,000.00M 1,018.51M
S 1kWhlZDZE 16.00M 16.29
== E=RIIY %
BHEH ZO=E TKWhI=Z D= 15,00 15.27M




EEENEAYI>bPABNHEA=1—

FNEHoBbvATIV (EBLTAEY)

BT CHER8%) #Eff CHET10%)

RIEHE 100kWhZE T 2,400.00[ 2,444 441

. 100kWh% Z % 300kWhZE TD 1kWh|ZDE 23.00M 23.42M

EhERE — -
300kWhZEZ X2 51kWh[ZDE 25.00M 25.46M

BBEICH>BPATIV (REBLTAEE)

RIEHE 15kWhE T 334.00M 340.18M
15kWhZ Z % 120kWhE TD 1kWh[ZDE 19.95A 20.31M

BHENS 120kWh% Z Z.300kWhZE TD 1kWh[Z D& 24,00 24.44M
300kWhZEZ 2 H1kWhIZDE 26.30M 26.78M

FWEFRIPYTSU (HEELBHEY)

EXHE RHBEIKVAIZDE 350.00M 356.48M
120kWhETD1kWh[ZDE 18.00M 18.33H

BHENS 120kWh% Z Z.300kWhE TD 1kWh[ZDE 22.00M 22.40M
300kWhZxZ 2 H1kWh[ZDE 23.00M 23.42H

BBEICHFIYYTS (EEELTBHEL)

EXHE LR EIKVAIZDE 380.00M 387.03M
120kWhETD1kWh[ZDE 17.50M 17.82H

BHENE 120kWh#% Z % 300kWhZE TOD 1kWhIZDE 19.00H 19.35H
300kWhZxZ 2 H1kWh[ZDE 21.50M 21.89M

FWEWLRTIV (BREEHHELY)

EXHE ZHEBEHIKWIZDE 1,000.00H 1,018.51M

o 5= 1TkWhlZDZE 14.00M 14.25M

et 0= 1kWhIZ D= 13.00M 13.24M




PEEBENEAEAT oLPABNHEAZ 21—

BRDOY->boATIY (KEBATANEY) HE I GHERI8%) HEE GEER10%)
=IEHE 100kWhZE T 2,400.00M 2,444.441
. 100kWh# Z % 300kWhE TD 1kWh|[Z D= 23.00M 23.42M

BEHEHE — —
300kWhZx Z %2 H1kWhlZD&E 25.00M 25.46M

BREOFRAVITZ (HEEELBHEY)

EAXHE ZHREIKVAIZDE 330.004 336.11H
120kWhETD1kWh[ZDE 15.00M 15.27H
BHENE 120kWh# Z % 300kWhE TD 1kWh[ZDE 20.00M 20.37H
300kWhZEZ % H1kWhIZDE 23.00M 23.42M

BFOWERTZV (BEEEHHEY)

HAH® LT HIKWIZDE 1,000.00M 1,018.51H
= 1kWhlZDZE 14.00M 14.25M

o 44 By ﬁ

RAR ZDih=E TkWhI= D= 13.00M 13.24M4




MEEAEAYI>bPABNHEA=1—

YioboATIU (REBLTAHEY)

MBI CHER8%) #EMCHEET10%)

=IEHE 100kWhZE T 2,400.00M 2,444.441
. 100kWh% Z % 300kWhE TD 1kWh[ZDE 23.00M 23.42M
BEHENE — —
300kWhZx Z %2 H1kWhlZD&E 25.00M 25.46M
TRUF TS (R —ke TS [B4TL+14EY)
1228912 DEFZ D 10kVA 1,500.00M 1,527.77M
HAHE b
LEEAEZZB1kVA 350.00M 356.48M
A0KWhZETOD 1kWh[ZDE 20.00M 20.37M
FHTORE M S G258 FE T [40kWh%E X 90KWhETD 1kWhIZDE 27.00H 27.50H
BEhEHE 90kWhZFZ X H1kWh[ZD&E 34.00M 34.62M
FHSENOFRIIEBET|IKWhIZDE 26.00M 26.48M
FHEBASE BFFBEET [1IKWh[ZDZE 14.00M 14.25M
TV TS0 (REELTBFHEY)
HAHE EHREIKVAIZDE 330.00M 336.11H
120kWhE TD1kWhIZDZE 15.00M 15.27H
EHhEHRE 120kWh% Z % 300kWhE TD 1kWhlZDZE 20.00MH 20.37M
300kWhZx Z 2 B 1kWhIZD&E 23.00M 23.42H
WiETS> (BREEHEH)
HAHE BT N1kwlZDE 1,000.00 1,018.51H
= 1kWhlZDE 15.00M 15.27H
e TP -
ZDihZE 1kWhlZD = 14.00M 14.25M




NINEAEAT oL ABNHEA=1—

ENEWN B ATS (EELTBEY)

BT CHER8%) #Eff CHET10%)

30A 900.00 916.66M
40A 1,100,009 1120.37M

HEARH®

A 50A 1,300.00 1324.07H

60A 1,500,009 1527.77M

. 300kWhE T 1kWh[Z D= 19.00M 19.35M

Rl EAT 300kWh%EC % B 1kWhIZDE 24,00 24,44

EMEWFI YT (EELTCHEL)

HEARHE R EIKVAIZDE 250.00H 254.62H
300kWhETD 1kWh(Z D= 19.00 19.35M

== E=RIIY

BAEHE 300kWhZ%E % A 1kWhIZ D= 2200/ 22.40M

EMNENWNLERTS REEHEY)

EXHE ZHEBEHIKWIZDE 850.00M 865.74H
55 TKWhl= D= 16.00M 16.299

5 =4 I

BhEHE ZO= TkWhIZ D= 15.00M9 15.27M




